

**ITB 2022-012
REFUSE REMOVAL**

BID COMPARISON												
Description		Container Size (CY)	Number of Pickups	Number of Months	The Goode Companies		Waste Management		M&R Contracting		BFI Waste dba Republic	
					Monthly Charge	Total	Monthly Charge	Total	Monthly Charge	Total	Monthly Charge	Total
A - Buildings & Grounds Division												
A-1	Northeast Community Center	6	2/Week	12	\$218.89	\$2,626.68	\$231.60	\$2,779.20	\$250.00	\$3,000.00	\$284.74	\$3,416.88
A-2	North Beach Senior Center	6	2/Week	12	\$218.89	\$2,626.68	\$231.60	\$2,779.20	\$250.00	\$3,000.00	\$284.74	\$3,416.88
A-3	Fairview Library/Community Center	4	1/Week	12	\$85.18	\$1,022.16	\$97.57	\$1,170.84	\$150.00	\$1,800.00	\$98.72	\$1,184.64
A-4	Health Service Center	8	2/Week	12	\$85.18	\$1,022.16	\$277.23	\$3,326.76	\$400.00	\$4,800.00	\$361.64	\$4,339.68
A-5	Calvert Pines Senior Center	6	2/Week	12	\$218.89	\$2,626.68	\$231.60	\$2,779.20	\$250.00	\$3,000.00	\$284.74	\$3,416.88
A-6	Safe Harbor Abused Persons Shelter	4	1/Week	12	\$85.18	\$1,022.16	\$97.57	\$1,170.84	\$150.00	\$1,800.00	\$98.72	\$1,184.64
A-7	Courthouse	8	3/Week	12	\$402.13	\$4,825.56	\$408.51	\$4,902.12	\$500.00	\$6,000.00	\$542.46	\$6,509.52
A-8	Courthouse Annex	6	1/Week	12	\$109.94	\$1,319.28	\$121.97	\$1,463.64	\$200.00	\$2,400.00	\$142.37	\$1,708.44
A-9	County Services Plaza	6	2/Week	12	\$218.89	\$2,626.68	\$231.60	\$2,779.20	\$250.00	\$3,000.00	\$284.74	\$3,416.88
A-10	Community Resources Building	4	1/Week	12	\$85.18	\$1,022.16	\$97.57	\$1,170.84	\$150.00	\$1,800.00	\$98.72	\$1,184.64
A-11	Calvert House	6	2/Week	12	\$218.89	\$2,626.68	\$231.60	\$2,779.20	\$250.00	\$3,000.00	\$284.74	\$3,416.88
A-12	Substance Abuse Facility	6	1/Week	12	\$85.18	\$1,022.16	\$97.57	\$1,170.84	\$150.00	\$1,800.00	\$98.72	\$1,184.64
A-13	Southern Community Center	4	2/Week	12	\$218.89	\$2,626.68	\$231.60	\$2,779.20	\$250.00	\$3,000.00	\$284.74	\$3,416.88
A-14	Solomons Boat Ramp											
	Two (2) Boxes March 1 through November 30	8	2/Week	9	\$536.84	\$4,831.56	\$510.33	\$4,592.97	\$400.00	\$3,600.00	\$723.28	\$6,509.52
	Two (2) Boxes December 1 through February 28 (29)	8	1/Week	3	\$269.42	\$808.26	\$269.82	\$809.46	\$250.00	\$750.00	\$361.64	\$1,084.92
A-15	Solomons Parking Lot	8	1/Week	12	\$134.71	\$1,616.52	\$145.94	\$1,751.28	\$250.00	\$3,000.00	\$180.82	\$2,169.84
A-16	Courthouse Square	6	1/Week	12	\$109.94	\$1,319.28	\$121.97	\$1,463.64	\$200.00	\$2,400.00	\$142.37	\$1,708.44
A-17	Mt. Hope Community Center	6	1/Week	12	\$109.94	\$1,319.28	\$121.97	\$1,463.64	\$200.00	\$2,400.00	\$142.37	\$1,708.44
A-18	Waterman's Wharf	4	1/Week	12	\$85.18	\$1,022.16	\$97.57	\$1,170.84	\$150.00	\$1,800.00	\$98.72	\$1,184.64
A-19	Prince Frederick Library	4	2/Week	12	\$169.35	\$2,032.20	\$185.55	\$2,226.60	\$200.00	\$2,400.00	\$197.44	\$2,369.28
A-20	Island Creek School	4	1/Week	12	\$85.18	\$1,022.16	\$97.57	\$1,170.84	\$150.00	\$1,800.00	\$98.72	\$1,184.64
A-21	Calvert Storage Facility	4	1/Week	12	\$85.18	\$1,022.16	\$97.57	\$1,170.84	\$150.00	\$1,800.00	\$98.72	\$1,184.64
A-22	Calvert Library, Southern Branch	4	1/Week	12	\$85.18	\$1,022.16	\$97.57	\$1,170.84	\$150.00	\$1,800.00	\$98.72	\$1,184.64
A-23	Annamarie Sculpture and Arts Center	4	1/Week	12	\$85.18	\$1,022.16	\$97.57	\$1,170.84	\$150.00	\$1,800.00	\$98.72	\$1,184.64
A-24	Harriet Elizabeth Brown Center	4	2/Week	12	\$169.35	\$2,032.20	\$185.55	\$2,226.60	\$200.00	\$2,400.00	\$98.72	\$1,184.64
Subtotal A (Buildings & Grounds Division)					\$46,085.82		\$51,439.47		\$64,350.00		\$60,455.76	

Description		Container Size (CY)	Number of Pickups	Number of Months	The Goode Companies		Waste Management		M&R Contracting		BFI Waste dba Republic	
					Monthly Charge	Total	Monthly Charge	Total	Monthly Charge	Total	Monthly Charge	Total
B - Detention Center												
B-1	Detention Center	8	3/Week	12	\$402.13	\$4,825.56	\$375.46	\$4,505.52	\$500.00	\$6,000.00	\$542.46	\$6,509.52
		6	3/Week	12	\$327.83	\$3,933.96	\$308.18	\$3,698.16	\$350.00	\$4,200.00	\$427.11	\$5,125.32
B-2	DWI/Treatment Facility	8	1/Week	12	\$134.71	\$1,616.52	\$145.94	\$1,751.28	\$250.00	\$3,000.00	\$180.82	\$2,169.84
Subtotal B (Detention Center)					\$10,376.04		\$9,954.96		\$13,200.00		\$13,804.68	
C - Fire/Rescue/EMS												
C-1	North Beach Volunteer Fire Department, Company No. 1	8	1/Week	12	\$134.71	\$1,616.52	\$145.94	\$1,751.28	\$250.00	\$3,000.00	\$180.82	\$2,169.84
C-2	Prince Frederick Volunteer Fire Department, Company No. 2	8	1/Week	12	\$134.71	\$1,616.52	\$145.94	\$1,751.28	\$250.00	\$3,000.00	\$180.82	\$2,169.84
C-3	Solomons Rescue Squad and Fire Department, Company No. 3	8	1/Week	12	\$134.71	\$1,616.52	\$145.94	\$1,751.28	\$250.00	\$3,000.00	\$180.82	\$2,169.84
C-4	Solomons Rescue Squad and Fire Department Substation	6	1/Week	12	\$109.94	\$1,319.28	\$121.97	\$1,463.64	\$200.00	\$2,400.00	\$142.37	\$1,708.44
C-5	Prince Frederick Volunteer Rescue Squad, Company No. 4	8	1/Week	12	\$134.71	\$1,616.52	\$145.94	\$1,751.28	\$250.00	\$3,000.00	\$180.82	\$2,169.84
C-6	Dunkirk Volunteer Fire Department, Company No. 5	8	1/Week	12	\$134.71	\$1,616.52	\$145.94	\$1,751.28	\$250.00	\$3,000.00	\$180.82	\$2,169.84
C-7	Huntingtown Volunteer Fire Department, Company No. 6	8	1/Week	12	\$134.71	\$1,616.52	\$145.94	\$1,751.28	\$250.00	\$3,000.00	\$180.82	\$2,169.84
C-8	St. Leonard Volunteer Fire Department, Company No. 7	8	1/Week	12	\$134.71	\$1,616.52	\$145.94	\$1,751.28	\$250.00	\$3,000.00	\$180.82	\$2,169.84
C-9	Calvert Advanced Life Support	6	1/Week	12	\$109.94	\$1,319.28	\$121.97	\$1,463.64	\$200.00	\$2,400.00	\$142.37	\$1,708.44
Subtotal C (Fire/Rescue/EMS)					\$13,954.20		\$15,186.24		\$25,800.00		\$18,605.76	
D - Marine Museum												
D-1	Calvert Marine Museum	8	3/Week	12	\$333.54	\$4,002.48	\$408.51	\$4,902.12	\$500.00	\$6,000.00	\$542.46	\$6,509.52
D-2	Cove Point Lighthouse	2	1/Week	12	\$54.69	\$656.28	\$73.40	\$880.80	\$100.00	\$1,200.00	\$51.27	\$615.24
Subtotal D (Marine Museum)					\$4,658.76		\$5,782.92		\$7,200.00		\$7,124.76	

Description	Container Size (CY)	Number of Pickups	Number of Months	The Goode Companies		Waste Management		M&R Contracting		BFI Waste dba Republic		
				Monthly Charge	Total	Monthly Charge	Total	Monthly Charge	Total	Monthly Charge	Total	
E - Natural Resources Division												
E-1	Calvert Marine Museum	4	1/Week	12	\$81.36	\$976.32	\$97.57	\$1,170.84	\$150.00	\$1,800.00	\$98.72	\$1,184.64
E-2	Cove Point Lighthouse	6	1/Week	12	\$104.23	\$1,250.76	\$121.97	\$1,463.64	\$200.00	\$2,400.00	\$142.37	\$1,708.44
E-3	Flag Ponds Nature Park											
	Weekly - May 1 through September 30	6	1/Week	5	\$104.23	\$521.15	\$121.97	\$609.85	\$200.00	\$1,000.00	\$142.37	\$711.85
	Twice per Month - October, November, March, and April	6	2/Month	4	\$96.36	\$385.44	\$67.16	\$268.64	\$200.00	\$800.00	\$65.76	\$263.04
	Monthly - December, January, and February	6	1/Month	3	\$52.40	\$157.20	\$37.64	\$112.92	\$250.00	\$750.00	\$32.88	\$98.64
Subtotal E (Natural Resources Division)					\$3,290.87		\$3,625.89		\$6,750.00		\$3,966.61	
F - Department of Parks & Recreation												
F-1	Breezy Point Campground											
	One (1) Box - November 1 through April 30	8	1/Week	6	\$188.06	\$1,128.36	\$145.94	\$875.64	\$250.00	\$1,500.00	\$180.82	\$1,084.92
	Five (5) Boxes - May 1 through October 31 Only Remove Four (4) Boxes on November 1	8	2/Week	6	\$1,875.76	\$11,254.56	\$1,268.28	\$7,609.68	\$400.00	\$2,400.00	\$1,808.20	\$10,849.20
F-2	Marley Run Park - March 1 through November 30	8	1/Week	9	\$127.09	\$1,143.81	\$150.83	\$1,357.47	\$250.00	\$2,250.00	\$180.82	\$1,627.38
F-3	Cove Point Park - May 1 through September 30 Remove Refuse Container at end of September for Winter	8	2/Week	5	\$253.18	\$1,265.90	\$297.74	\$1,488.70	\$400.00	\$2,000.00	\$361.64	\$1,808.20
F-4	Edward T. Hall Aquatic Center	6	1/Week	12	\$104.23	\$1,250.76	\$121.97	\$1,463.64	\$200.00	\$2,400.00	\$142.37	\$1,708.44
F-5	Kings Landing Pool - Pool Area May 1 through September 30 Only-Remove end of September	6	1/Week	5	\$104.23	\$521.15	\$139.25	\$696.25	\$200.00	\$1,000.00	\$142.37	\$711.85
Subtotal F (Department of Parks & Recreation)					\$16,564.54		\$13,491.38		\$11,550.00		\$17,789.99	

Description	Container Size (CY)	Number of Pickups	Number of Months	The Goode Companies		Waste Management		M&R Contracting		BFI Waste dba Republic				
				Monthly Charge	Total	Monthly Charge	Total	Monthly Charge	Total	Monthly Charge	Total			
G - Parks & Recreation District Parks														
G-1	Dunkirk District Park													
	Two (2) Boxes - March 1 through November 30			8	2/Week	9	\$506.36	\$4,557.24	\$510.33	\$4,592.97	\$400.00	\$3,600.00	\$723.28	\$6,509.52
	Two (2) Boxes - December 1 through February 28			8	1/Week	3	\$254.18	\$762.54	\$269.82	\$809.46	\$250.00	\$750.00	\$361.64	\$1,084.92
G-2	Ward Recreation and Nature Park													
	Two (2) Boxes - March 1 through November 30			8	2/Week	9	\$506.36	\$4,557.24	\$510.33	\$4,592.97	\$400.00	\$3,600.00	\$723.28	\$6,509.52
	Two (2) Boxes - December 1 through February 28			8	1/Week	3	\$254.18	\$762.54	\$269.82	\$809.46	\$250.00	\$750.00	\$361.64	\$1,084.92
G-3	Hallowing Point Park													
	Two (2) Boxes - March 1 through November 30			8	2/Week	9	\$506.36	\$4,557.24	\$510.33	\$4,592.97	\$400.00	\$3,600.00	\$723.28	\$6,509.52
	Two (2) Boxes - December 1 through February 28			8	1/Week	3	\$254.18	\$762.54	\$269.82	\$809.46	\$250.00	\$750.00	\$361.64	\$1,084.92
G-4	Cove Point Park													
	Two (2) Boxes - March 1 through November 30			8	2/Week	9	\$506.36	\$4,557.24	\$510.33	\$4,592.97	\$400.00	\$3,600.00	\$723.28	\$6,509.52
	Two (2) Boxes - December 1 through February 28			8	1/Week	3	\$254.18	\$762.54	\$269.82	\$809.46	\$250.00	\$750.00	\$361.64	\$1,084.92
Subtotal G (Parks & Recreation District Parks)							\$21,279.12		\$21,609.72		\$17,400.00		\$30,377.76	
H - Golf Course														
H-1	Chesapeake Hills Golf Course													
	One (1) Box - April 1 through September 30			6	2/Week	6	\$241.75	\$1,450.50	\$231.60	\$1,389.60	\$250.00	\$1,500.00	\$284.72	\$1,708.32
	One (1) Box - October 1 through March 31			6	1/Week	6	\$121.37	\$728.22	\$121.97	\$731.82	\$200.00	\$1,200.00	\$142.37	\$854.22
Subtotal H (Golf Course)							\$2,178.72		\$2,121.42		\$2,700.00		\$2,562.54	
I - Water & Sewer Division														
I-1	Prince Frederick Wastewater Treatment Plant II			2	1/Week	12	\$182.86	\$2,194.32	\$166.44	\$1,997.28	\$100.00	\$1,200.00	\$51.27	\$615.24
I-2	Solomons Headworks 1 of 2			4	1/Month	12	\$43.00	\$516.00	\$72.83	\$873.96	\$150.00	\$1,800.00	\$22.80	\$273.60
I-3	Solomons Headworks 2 of 2			4	2/Month	12	\$85.00	\$1,020.00	\$146.62	\$1,759.44	\$200.00	\$2,400.00	\$45.60	\$547.20
Subtotal I (Water & Sewer Division)							\$3,730.32		\$4,630.68		\$5,400.00		\$1,436.04	
TOTAL BID							\$122,118.39		\$127,842.68		\$154,350.00		\$156,123.90	

ON CALL SITES						
Description		Container Size (CY)	The Goode Companies	Waste Management	M&R Contracting	BFI Waste dba Republic
			Price per Pickup			
1 - Parks & Recreation						
1-1	Breezy Point Campground	20	\$550.00	\$650.00	\$250.00	\$165.00
2 - Water & Sewerage						
2-1	Northern Sewage Treatment Plant	2	\$225.00	\$100.00	\$50.00	\$23.68
2-2	Prince Frederick Sewage Treatment Plant	4	\$275.00	\$125.00	\$55.00	\$45.60
2-3	Industrial Park Wastewater Treatment Plant	4	\$275.00	\$125.00	\$55.00	\$45.60

ON CALL CONTAINERS (20, 30, OR 40 YARD)						
Description		Unit of Measure	The Goode Companies	Waste Management	M&R Contracting	BFI Waste dba Republic
			Unit Price			
1	Construction Debris (i.e., Drywall, Furniture, Framing, Material, Carpet, Roofing Material, etc.)	per Ton	\$150.00	\$125.00	\$86.00	\$84.05
2	Block and Rubble	per Ton	\$150.00	\$125.00	\$15.00	\$84.05